] 34—}? iRt H T2 &1 T / Number of Pages in Booklet : 16

REA gﬁﬂm /QUESTION BOOKLET

TRt ® T 1 HEA / Number of Questions in Booklet : 150

i
£

gk

o4 / Time : 3.00 =52 / Hours  JUTi / Maximum Marks : 300

Question Booklet Number

INSTRUCTIONS

1. Please correctly fill your Roll Number in O.M.R. Sheet. Candidate will themself be responsible for filling
wrong Roll No.

2. At the start of the examination before attempting the question paper kindly check your question booklet and
OMR Answer Sheet and ensure that :

*  The serial numbers of question booklet and OMR answer sheet are same.

* All pages of question booklet and OMR answer sheet are properly printed. All questions from S.No. 1 to
last S.No. 150 are printed and pages from S.No. 1 to last S. No. 16 are there in the question booklet,

In case of any discrepancy / defect the candidate should immediately report the matter to the invigilator for

replacement of question booklet and OMR answer sheet. No claim / objection in this regard will be entertained

after five minutes of start of examination. Candidate will be liable for it.

3. Answer all questions.

4, All questions carry equal marks.

5. Only one answer is to be given for each question.

6. [f more than one answers are marked, it would be treated as wrong answer,

7. Each question has four alternative responses marked serially as (@), (B), {€), (D). You have to darken only
one circle or bubble indicating the correct answer on the Answer Sheet using BLUE BALL POINT PEN.

8. There will be no negative marking for wrong answer.

9. Use of Mobile Phone/Bluetooth Devices or any other electronie gadget'in the examination hall is strictly

prohibited. If any such prohibited material found with any gandidatepstrict action will be taken against him/
her as per rule.
10. If there is any sort of ambiguity/mistake either of printing orfactual nature in Hindi and English Version of
the question, the English Version will be treated as standard.
Warning : If a candidate is found copying or if any unauthiorized material is found in his/her possession, F.1.R.
would be lodged against him/her in the Police Stationfand hefShe, would liable to be prosecuted under Section
3 of the State Prevention of Unfair means Act, 1992 and Board Regulations. Board may also debar him/her
permanently from all future examinations of the Board.

e

PUHT AT el AL ST UH. L. USeh I AT Yelsh HaT L | T Ol T 98 00 g{anst @ saeard g

IA-UF A HT W G G WO B EgsT IS gRae Ud o .. ITOsE B el i A B 98

gHfvad & o

* U i Td SN UH. Y. SO % hAIm UE GHF

¥ us-uA Yl Ud Tt uH, . STy smndiy e 9ET By 30 E | usi-uA H ysd €. 1 § Afad sk 150 9@
T U5 FHA qRE 2 Ud T g wHatyl ¥ 16 9% HisE & |

R oyt @1 frEmfa @ ar Syl € 9T eus g T 9T .. IUtuse B g e At 8§

U T & | TS YT B9 % 5 e % e uE Refa A R a / amafa T g R T2 e e e ame

Tl afvmdl @t €l

LSRR S T s R I

Y vy F a9 £

eI W5 F1 e Ueh B 3¢ ST |

o H afuE e 31 & ST § WA % I Bl ed =l S|

Weleh W9 th =1L Sehieqeh STk 160 T E, T wHIn (A), (B), (C), (D) sifeed fepar wam &1 arvadl & "8 e

faffe Fta U 379 o Ha@ UF T e 999 B STCTE UL AW G WEE W 9 T80 FET 8

8. T IO % U IS 3k HT TE AT |

9. HidEd WA [ sfgy [Sagy sual o=y golagiivg 9 B aden eld § g yeigan afdd 21 afe md sl % um
Q@aﬁéaﬁhﬂmﬁﬁﬁ?ﬁ%@rmﬁﬂ@*aﬁmwwmﬁaﬁml

10. afs Ree wed & Bl v oSl wural o TR W B DI HEOT A1 TSR WAL B F1E B Al U9 B SAUS
TATILOT /I BT

FAET 2 A B AR} AR FLD URST AT T AT SHE UK/ B FATEpa Grell uig widr ¥, 3w st % el

gfere % wrafid o Hud SEel ofit T sghm w1 i afafEw, 1992 #oarg 3 g did TgasH § aed

FHEATE! B S| T 95 U anaelt @ IRy § 29 aw 99 3 9 whenet § faaiia s 3w #

D78986 1 /\ 1 [

[ NI

Noo ko

3 T QR &1 79 7% 7 @it 5 7 el 7 98 1/ Do not open this question booklet until you are asked to do so.

P

ontd...



Under which circumstances will an antigen —

antibody reaction occur?

(A) A person with type AB blood group is
given type A

(BY A person with type AB blood group is
given type B

(C)y A person with type A blood group is
given type O

(D) A person with type O blood group is
given type A

formr afifarfa # widem — wfeelt wiafear =rir 7

(A) s @fad fowe @d 898 AB & 98 A &
wE famr =

(B) U% @ ~ae @ 9% AB § 39 B ™
s faar s

(C) us = e & @8 A 539 O
we faar s

(D) uw = few @ 98 O 36 A &
we femn smy

_feature create a mirror image of the selected
object in PowerPoint presentation.

(A) Mirroring (B} Flipping

(Cy Sliding (D) Rotating

AT TEE USisM A % g §U HAfdeide @#i
EIGIEERCHIICCI
(A) o

(C) wgfeéT

(B) Tt
(D) Trefem

Choose the correct alternative for translation of
the following technical term :

'subscriber’
(A) aTeE™ (B) s
(C) T (D) amerg

A diagonal of a rhombus is 12 cm If its area is
30 cm? then the length of each side of the
rhombus is

1

(A) 65 cm (B) 13 em
1

() 25 cm (D) 5cm

U FEEAGHS B G faavt 12 9 81 3 SHa sewa
30 A2 ¥ A FHEGAT B GAE G H TE & -

I
(A) 6— @t

> (B) 13 &

1
() 25 aqr (D) 5 &
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Which of the following viruses are spread by fruit
bats?

(A) NIPAH virus (B) Dengue virus

(C) Hepatitis B virus (D) HIV

Frefatead & & @ @1 U] BE TEs J
e &7

(A) e ™ (B) S TR

(C) eUerEied & amre (D) ug o o

The common name of Particle Gun technology
used for DNA transfer to tissues is

{A) Shotgun Method (B) Shotput Method

(C) Shotblast Method (D) Missile Method
Tl H 2. U, U BT hl B0 g [ard ol
R AW ¥

(A) st faiy
(C) stieame fafy

(B) stiege fafu
(D) frama fafy

The numberet sex chromosome in human is :
Artasifd W fpa T s o W §°

(A1 (B) 2

(Q) 3 (D) 4

Chogse the correct one word substitution from the
given options :

A person who is uncivilized.

{A) Barber (B) Barbadian

(C) Barbarian (D) Barbican

After input, storage, process and output, which is
the fifth operation performed by any computer

system?
(A) control (BY display
(C) debug (D) monitor

T, WIS, WHE 3T 39eyz & st@mar vzl g
fpan A arar dier sl @ a1 ?

(A) &w (B) fewr

(C) feam (D) it

Which one among the following is added to soap
to impart antiseptic property?

{A) Sodium lauryl sulphate

{B) Sodium dodecylbenzene sulphonate

(C) Rosin

(D) Bithional

R e T F T ¥ R Prefefad § @
Rl Tig o P s % 7

(A) Hifsg @il aehe

(B) Hifsgd SRERAd-IA T

(C) ha=

(D) argfme
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Which fact is not related with the Sambal Gram

Scheme?

(A) Maximum ¥ 5.00 lakh for one village in

one year

Work for development of infrastructure

facilities

(C) Selection of villages with more than 40%
SC population

(D) Funds are allocated to Gram Panchayats

BEET AL HA@ AT A W wErUT T §?

(A) U% ¥ H u% Mg & g eifteeaw T 5.00 @@

(B) emarvd gfawnat & faem &1 e

(C) 40% ¥ ottt arHfad st & &R et el
BT T

(D) i3 @1 u dadl @ srEeA

(B)

In an ecosystem dominated by trees, the pyramid
of numbers is type.

(A) horizontal (B} tilted

(C) inverted (D) upright

o1 U@ W b o e i g @
e 21

(A) dit (B) =&

(C) sv (D) e

What does the term NITI' Aayog stands for2
(A) National Institute for Technical India

(B} National Institution for Transparency India
(C) National Institute for Talent India

(D) National Institution for Transformingslndia
RUGHE G iuiea e vyl Gk

(A) A3 eI BT Saihd 3ieE

(B) Aol Seleyer Wit Ziadi= e

(C) AsMd $ediege wit o= sfaal

(D) S IEIEIH WIT ZEBIRIEE, Z ST

The value of tan30°sin45°sin60°sin90° is

tan 30°sin45°sin 60° sin90° @I A9 & —

oF B) 22
! V2
(©) Wi (D) Y

Haemoglobin found in blood contains
T ¥ Suftad EErEEE ¥ o e ¥
(A) Ca (B) Na
(C) Fe (D) Mg

D78986 1 /\

16

17

18

19

20

The four problem figures have certain common
features. Select a figure from amongst the answer

(A) (B)

() (D)

figures which possesses the same feature,

e ugd snepferal fndll ush o1 b SNER U A €)
CalE

Problem Figures / 797 sttmal

Answer Figures / % Sgidl

frafafiad & il o1 @) ube B 9T g & -
(AN (B) we

IO APAl § W IE Y9 A GH AP B gIT
/|| [n
(C) T8 (D) =

Who got the Trimukh Baori built at Tebari village
in Rajasthan?

(A) Rani Ramrasde (B) Rani Rupalde

(C) Rani Bhimalde (D) Umade Bhatiyani
ToTerE & dard g § Breyw eradt o fmie e
BT

(A) T THEER
(C) T e

(B) THT Euws
(D) =9 wieaw

Name of the first textile mill setup in Rajasthan is
(A) Krishna Mill (By Edward Mill

(C) Maha Laxmi Mill (D) Sardul Mill

TSR W WG el gal 9% e ol M §

(A) Fom fa (B) u=as fa

(C) =T T (D) @Ea fe

The popular annual fair at Kolu (Phalodi) is
dedicated to which of the following ?

{A) Deviji (B) Pabuji

(C) Gogaji (D) Ramdevji
Prefafiaa & @ fod @iy (wAD) o1 uge aifer i

auita & 7
(A) asht (B) drgsir
(C) i (D) Twdash

[ Contd...
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Who was the Governor of Rajasthan, when the
President’s rule was first time promulgated in
the state?

(A) Sardar Gurmukh Nihaal Singh

(B) Sardar Hukum Singh

(C) Sardar Jogendra Singh

(D) Shri Sampoornanand

T TS H TEel] a1 TSI STE TR T, Tl
T B &7

(A) @R Y e e

(B) ¥@ER 37 e

(C) TEr 9 e

(D) 4t dyuivi

Chilika Lake is situated to the south of the delta
of the river -

(A) Godavari (B) Krishna

(CYy Kaveri (D) Mahanadi

Tateem e TaT % eI b FreOT § Rua 2
(A) e (B) %wm

(€) @ (D) werd

Which of the following is not a feature of a notice?
(A) Signature by authority

(B) Time, date and place

(C) Agenda

(D) Minutes

The most stable oxidation states of the coifage
metals are

o1 UG B Y W SRR STEe §

(A) Cu', Ag', Au”*

(B) Cu™, Ag™, Au™

(C) Cl.l+2, Ag+2, Aut2

(D) Cu'2, Ag™, Au"

For how many days can blood bejstoted for
transfusion?

(A) 10-20 Days (B) 35-45,Days

(CYy 45-60 Days (D) upto 3 months
ZieReH % TU T @l o e ae dufea fean =
Hehell 8 7

(A) 10-20 &9 =
(C) 45-60 f&= a=

(B) 35-45 ©@9 a&%
(D) 9 #fe @&

In the following series how many symbol of (@
are there which is immediately preceded by the
symbol # and immediately followed by the symbol
+7?

T i Gl A 08 e @ faen € g O v
fere # qerm S We A faew + ¥
Si+twit=x@% dtw+ecT @+ +
@#@+3$%=
(A) 3

(€) 6

(B) 5
(D) 7
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Who among the following does endorsement on
the Money Bill while transmitting a copy of the
bill to Rajya Sabha as passed by the Lok Sabha.
{A) Minister of Finance

{B) Secretary General of Lok Sabha

(C) Speaker of Lok Sabha

(D) Minister of Parliamentary Affairs

Fraifepa & @ B AewaHl 510 WG 99 fadas @ us
afd eI @l e g9y, geeifd @i 8 ?

(A) faoesl

(B) &l & Het@g

(C) Trep@Hl & 3rede

(D) TEE & =l

In MS Excel Date function is used for
(A) current date display

(B) get time

(C) add a number of days to a day only
{D)gaddya number of years, months/days
U9 TH e 32 BayH # N BT §
(A atst @ Tl fEm % o

(B) 9@yt H{7 & fou

(Q) Tk, &7 o &G0 @t S % g

(D) T, AfeAl a &= & e & @y

According to Crick, genetic information flows out

of nucleus in a path.

{A) one way (B) circular

{C) two way (D) inverse

forer % oTER, eTEfie TG e ¥ e @ &l
TaTE BN WEd ER B

(A) & gd™ (B) T

(C) 5 udig (D) Wit

Who was the first woman chairperson of Rajasthan
State Human Rights Commission?

(A) Kanta Bhatnagar

(B) Jayanti Patnaik

(C) Lalitha Kumarmangalam

(D) None of these

=1 & & B o™ Tog A AT BT
Hiewn seae 17

(A) &I HSAWL

(B) TE=l TR

(C) wferar FATEHTEH

(D) 39 & @i ff 7=

Choose the most appropriate translation of the
given sentence into English :

d9at gy ¥

(A) God is omnipresence.

(B) God is omnipotent,

{C) God is omnibenevolence.

(D) God is omnicompetent.
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Cost price of a watch is I 530. If the loss
percentage is 24%, then what is the value (in
rupees) of loss?

TH g F HE O 3 530 ¥ afy ey widea 24%
B dl &I &1 " (wuEl §) @ &7

(A) 114 (By 1122

(C) 114.2 (D) 127.2

What was the percent of population of Rajasthan
in relation to India in the year 20117

st #2011 H Aed &1 b uftera sieien 4 ?
(A) 5.55% (B) 5.66%

(C) 6.55% (D) 10.41%

First computer was installed in India at :
(A) Institute of Social Science, Agra

(B) Indian Institute of Statistics, Delhi
(C) Indian Statistical Institute, Kolkata
(D) Indian Institute of Science, Bengaluru
ARG # TE0 ST Wg g3 o ¢

(A) @I faee e, Ay o

(B) 3fead Ree offe wicheaw, fam o
(C) W\Tg Wi F, ®ierhan o

(D) Wi fagm s, ST |

The value of J913()99 +J700569 is

913099 + /700569 1 7= ¥ -

(A) 946 (B) 956
(€) 966 (D) 976

‘TRl 9TE T e WHE & 7

(A) && T (B) Ta7 w9

(C) wgdiE ao ™ (D) areadiae qHE

Different types of chemical reactions are
(i) chemical combination
(ii) decomposition
(it} displacement
(iv) double decomposition
To which category do the following, reactions
belong?
(a) iron + steam —» iron oxide + hydrogen
(b} sodium chloride + silver nitrate —
sodium nitrate + silver chloride

fafi= yaR @& TEatee atulear ®
(i) THErS GaeE (i) aTTEes
(iii) Tazmm= (iv) TE—erqa="

frmfataa sfufead feg 9oft % ofaria amr &7
(a) ST + 9]y T ATFEES + e
(b) wifexw wiitze + et A2z —
Hifeay A2 + ey FwEs
(A) (a) — (i), (b) — (iv)
(B) (a) — (i), (b) — (iv)
(C) (a) - (i), (b) = (1}
(D) (a) — (iv), (b) — (iii)
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ezang La' war memorial is situated in -
'R g La' | tuated

{A) Ladakh (B) Nagaland

(C) Sikkim (D) Arunachal Pradesh
[ A g T e & -

(A) wgra W (B) Antreve §

(C) Tafrew o (D) arevad wasl

Which Sanctuary is established for the conservation
of "Alligator” in the Rajasthan state?

(A) Jaisamand Sanctuary

{B) Nahargarh Sanctuary

(C) Chambal Sanctuary

(D) Mukundra Hills Sanctuary

“HTEOTE % ELAW % AU TeRg™ TV N &l
FATEY Tenfye T e # 7

(A) =UgHE< {HLTg

(B) ETTG aryamem

(C) =/ =g F9gey

(D) TehateuaIsal AT

Magnifigation produced by a concave lens is
always

(A) more than |

(B),.€qual to 1

{(C) less than 1

{D) more than 1 or less than 1

dadd oF R IO Sadd Hag gar § ¢
(A) 1% wgmT

(B) | % auax

(C) 18 a9

(D) 1 ¥ =T an | & @A

Which of the following is the traditional handicraft
of Jaipur?

(A) Woollen Khaadi (B) Theva Art

(C) Paintings (D) Blue Pottery

= o 8 SOYT & 9T esIedn B © 7
(A) &1 e (B) & @

(C) Tasteen (D) = uied

If the equation (l +Iz)x2 +2ex + ((52 — ) =0

has equal roots then which of the following is
true?

g FHIHL (1+l‘2)x2+2rcx+(cz—a2):0 ¥
o § A1 Fefafad W @ 9 A g &7

(A) a2:02(1+12) (B) l2=a2(1+02)
© E=a(147) © 2 - (1+a’)

[ Contd...



43

44

46

47

The number and appearance of chromosomes in
the nucleus of a eukaryotic cell is called

(A) Nucleotype (B} Xyvlotype

(C) Karyotype (D) Neotype

g W § T A wen e et
FHEART 5 |

(A) HEFRIET (B) wgeivEg

(C) TmpmET (D) e

Which of the following is the apex organisation
engaged in fostering growth of industrialisation
in Rajasthan?

(A) Rajasthan Finance Corporation

(BY RIICO

(Cy RAISICO

(D) NABARD

1 & & BF-—dr e e & ot fawm &
T & @l o e Y

(A) T o fem

(B) i

(C) YroTeenl

(D) -

The names of how many regional languages arg
found in the Katha Sangraha of Kuvalayamala?

FAATAAN THH HUT HUE H feerir 29l wrnart & i

& e EHTE 7
(A) 15 (B) 16
) 17 (D) 18

Change the following sentence into indire¢t speech:
"We wish we didn't have to take exams', said the
children.

(A) The children said they wish theyididn't have
to take exams.

(BY The children said they wishedythey do not
have to take exams.

(C) The children said they wish they do not had
to take exams.

(D) The children said that they wished they didn't

have to take exams.

The famous tribal fair of "Beneshwar” is organized
in which district of Rajasthan?

(A) Kota (B) Banswara

(C) Pratapgarh (D) Dungarpur

uirg sfeardl Her ‘Suiger’ (e & fe| e o
AT 2 § 7
(A) @I

(C) wawTe

(B) smHarsT
(D) g9
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Fretafag & & a9 H B9 o1 W § 7

(A) = (B) &4
(C) =@ (D)

FE-GT = Iial’ H qgg ol B °
(A) Texwg (B) <=
(C) &1 (D) T=

From which part of the mustard plant <Brassica>
oil is extracted?

{A) Whole plant (BY Flower

{C) Ovary (D) Seeds

T qEY <A1 & fme wm g wEl aa Femiaa
2l 8 7

(A) ol w
(C) o™

(B) g9
(D) 9=

Chgdose the correct passive form of the given
sentence

Close/the door!

(A), Let'the door be closed.

(B) Yow should close the door.

(C) Lgt the door be close.

(Dndet us close the door.

Who among the following was not honoured in
the literature and education category of Padma
Bhushan Award, 20227

(A) Pratibha Ray

(B) Swami Sachidanand

(C) Vashishth Tripathi

(D) Natrajan Chandrasekaran

Freifea & & ®F 15T uu e, 2022 % "ied
uq fyten % &5 ¥ qrpg e gw ¥7

(A) mfawm ¥

(B) @il "feuerm=

(C) afis frard

(D) T TEAHT

The locus of the mid-points of the radii of length
10 em of a circle is —

(A) a circle of radius 15 cm

{(B) a circle of radius 10 cm

{C) a concentric circle of radius 5 cm

(D) diameter of the circle

10 8.9, &3 ot fon are fedl g @t e %
Heg-fargail @1 Rigua § -

(A) 15 9.4 fr=n &1 ws ga

(B) 10 9.4 s @1 us ga

(C) 5 wAL = &1 & "o ga

(D) g &1 =™
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Qutline tab in PowerPoint is used to view
(A) Only pictures in slide

(B) Only texts in slide

(C) Both pictures and texts in slide
(D) Only blank slide

qieY iET H STSeAEd <8 @&l W
HE Y AW E

(A) o wee fuead

(B) had wEE e

(C) wiee o Tead 9 2oge g9

(D) %o =it WSS

The median of first 10 prime numbers is —

T 10 Y GEATET i HIfhew &

(A) 11 B) 14
() 13 (D) 12
‘STTER’ 9TeE BT Wel wig-fawe ERm -
(A) ot + 3k (B) st + a1
(C) i + = (D) o + a1

Which of the following Folk God's mother was
Mainade?

(A) Mallinathji (B) Pabuji

(Cy Ramdevji (D) Gogaji

frfafigd o 4 &1 9 ddeaan ® A Jomg &4 7
(A) it (B) s

(C) THeEs (D) TS

Which place of Rajasthan is related to Kapil Muni?
(A) Jodhpur (B) Nagaur

(C)y Kolayat (D) Sambhar

TR ¥ & °1 W&F &id g 48ata g7
(A) wirage (B) At

(C) biera (D) HiwT

Which of the following qualitiegyof coal is
maximum produced in Rajasthan?
(A) Peat (B} Lignite
(C) Bituminous (D) Anthracite
e & & & @ sgar e uememm A sttt
IeTTed @l S § 7

(B) ferge

(A) dre
(D) wETEE

(C) faghrw
Mukhyamantri Nishulk Janch Yojana was launched
from

e g W e a & g
T a7l

(A) 2011 (B) 2013

(C) 2015 (D) 2016
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.| 61

62

63

04

65

66

MY H pIHET GHE & 7
(A) =gsife (B) fa
(C) ®HEry (D) dgey

Which of the following National Parks is situated
in Madhya Pradesh?

(A) Manas (B) Bandhavgarh

(C) Keoladeo (D) Betla

Frefafiag ol saFi § 9 @ian 5w gl o
flag & 7

(A) w8
(C) waarRd

(B) sigang
(D) daar

On the recommendation of which Commission was
the area of Mount Abu and Ajmer Merwara
included in the Rajasthan?

(A) V. P. Menon Commission

(B) Rajasthan Reorganizaiton Commission
(C)4#Rajasthan United Commission

(D)) Vallabhbhai Patel Commission

FrEIEnT % RamiteeT OX Jiesve o1 UE ST HTarst
e faereagsTee o fear ?

(A) <. . T S

(B) BT SR AT

(O ATsTer dga ST

(D) aEAdE U ST

Scouts and Guides National Jamboree, 2023 was
hosted by which city?

{A) Jaipur (BY Jodhpur

{(C) Pali (D) Udaipur

T ®hae Ud MEs SR, 2023 @l Aaa fhe ey
i i
(A) SHEYT
(C) et

(B) Egy
(D) ey
Arittapatti and Meenakshipuram villages are

Biodiversity heritage sites of -
{A) Andhra Pradesh (B) Karnataka

(C) Kerala (D) Tamil Nadu

eI qan SegE g B o ot uTiet we
Ll

(A) 3% ydsn (B) hileeh

() (D) s

1
If 3 -1.732 then (vaZJEEJ

equals to
1
ot 5 —1.732 @ V7 -8 TS |
(A) 5.196 (B) 3.464
(C) 1.732 (D) 0.866
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Who administers oath to the Speaker Protem?

(A) Chief Minister

(B) Governor

(C) Seniormost member of state legislative
assembly

(D) Chief Justice of High Court

Wit Wied @i s B R 37

(A) Feaesit

(B) Tr=gue

(C) T~g faumar & afseaw 95@

(D) I=a AT @B G AR

'DPT stands for

(A) Dots Per Inch

(B)Y Digits Per Unit

(C) Dots pixel Inch

(D) Diagrams Per Inch

(A) =iz ¥fd §9

(B) (uftr gord i) fefewr wftr qfe
(C) =Tew Ty 59

(D) (ufg 59 om@) sEIr v 3=

Temporary hardness in water may be due to
(A) Sodium bicarbonate

(B) Magnesium bicarbonate

(C)y Calcium chloride

(D) Sodium sulphate

T W SR HSA W BT §

(A) WifsTq dEEEHe

(B) F{E Sgahae

(C) fegrem FES

(D) =HifsTd dehe

If the following words are arranged in‘alphabetical
order, which word will come Atulast?

gfz frefafad &l @l FHAIar AEid mar 9
df @—ar g enRgdr § s

Drank, Drake, Draper, Drastic, Drama

(A) Drank (B) Draper

(C) Drastic (D) Drama

Consider the following information

"when' means "<, 'you' means '+, ‘come' means
' and 'will' means '+, then find the value of
"8 when 12 will 16 you 2 come 18",

Frfafga ST o s dig

"when" &1 a1 & "%, 'you' &l 314 ¥ '+, 'come’ Bl
a1 & qan 'will' &1 @1 &, a1 " 8 when 12 will

16 you 2 come 18" &l HIF i ifsu)
(A) 82 (B) 86
(C) 94 (D) 98
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For spherical mirrors of small aperture, the relation
between radius of curvature (R) and its focal
length () is :

B2 gl o Midd gdor & fiw, aehar Br=ar (R) it
wibe gl (f) % &g w6y ¥ -

(A) R =2f (B) R = 3f

(C) R=1f2 (D) R=T

Anuprati Scheme of Rajasthan government provide
financial aid to the people of Scheduled Caste and
Scheduled Tribes

(A) for marriage

(B) for business

(C) for preparation of competitive exam

(D) for construction of house

TSI W@ ® AU I STgrag sma 3fit
I, ST % AR @l A< weTEar 9Ee
Bl &+

(A), TqaE &

(B) oW % T

(C) wfagnit wlienstt & dar % f

(D) =2 s & W

Complete the following sentence by choosing the
correct tense form from the given options :
He gave the picture to me because he

(A) trusted (B) trusting

(C) has trust (D) will trusted

me.

Which one of the following is an antonym of
'Admission'?
{A) Concession
(C) Denial

(B) Allowance
(D) Caution

‘Tl e SHe ¥ Y@t uel ¥ weawm ¥
(A) TyTaaras (B) Frerar®
(C) geuaras (D) wdeETa®

Normal Haemoglobin level for pregnant woman
is—

(A) 10 g/dl (B) 11 g/dl

(C) 12 g/l (D) 13 g/dl
iad Afgar § g e @ d -
(A) 10 T./2gmRT (B) 11 T./24/ee
(C) 12 mAGERT (D) 13 m./AdmeT

HeE Gadl HerEl B Tl 7Y & -
(A) =@ 3= Fmen @ (B) iy 9@l
(C) et & (D) %3 ge
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Which function key is used to edit the cell contents
of a sheet?

sfie % a@ BT @ Ufee B F 0 B 9w B

Tgad S E ?
(A) FI (B) F2
(C) F3 (D) T4

IfA:B=2:3,B:C=4:5 C:D=6:7 then
A:B:C:Dis

gt A:B=2:3,B:C=4:5C:D=6:7a
A:B:C:D%

(A) 16:22:30:35

(By 16 : 24 :30: 35

(Cy 16 :24 :15:35

(D) 16 :22:15:35

The origin of Krishna River is near which of the
following places?

(A) Nasik (B) Wardha

(C) Pravara (D) Mahabaleshwar

FON oI B IGM Frafafed e § ¥ faas

frepe T 7
(A) ifyen (B) @i
(C) war (D) mEmETYEy

Two cubes each of volume 27 cm? are joined efid
to end. What is the surface area of resulting
cuboid?

(A) 90 cm? (B} 81 cm?

(C) 45 cm? (D) 60 cm?

g oA, H U@ @ AEaT 27 om? Epath EHe
G Bl HATHT U SIE 1T ST & | SHG, T ated
AT T YT EE T § 7

(A) 90 = o (B) 81 = &=

(C) 45 o ad (D) 60 = ah

What is a digital circuit made up-of?

(A) logic gate (B} diode

(Cy CMOS (D) semi-conductor
fefores afbe feg & awar &7

(A) v e (B) =w@ie

(C) Hmig (D) &i—heaet

Which button is used to create a multi column
document?

(A) Break Column  (B) Multi Column

(CYy Column (D) Set Column

HEE! e SiRHeE S o G B A1 T2 TanT fhan
AT 7

(A) 3% Hiew
(C) whieH

(B) T HIaH
(D) &< wraw
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The condition in which image is formed behind
retina is called :

(A) Farsightedness

(B) Nearsightedness

(C) Preshyopia

(D) Astigmatism

frm fRafg § e % A wafds a=ar ¢, 39 @ed &
(A) e <

(B) Tz gz 3w

(C) SU-gghe e

(D) 3feaw= 3w

Which one of the following is not a condensation
polymer?

{A) Dacron (B)Y Melamine
(C) Neoprene (D) Glyptal
Frefufiag # & @En guae qgas T8l 3 7
(A) =i (B) e

(O = (D) fierea

Sudha Singh, (Olympic player}) who announced
retirement recently, is associated with which sport?
{A), Badminton (B) Cricket

(C) Athletics (D) Hockey

g Tz, (arfftos faars)) faweiy ew & o | &
A ), Fr de & o gl 27

(A) S (B) ferdhe

(C) umieed (D) &t

[ 91 B U BT —

(A) Brgul (B) 9t

(C) w2 (D) ufeern
X% -1

If secO+tanO=x, then — is —
x°+1
¥ -1

Aty secO+tanb=x, @ —— ¥ -
x+1

(A) secH (B) tan®

(C) cosB (D) sin

'Chhellow Show' is a film.

(A) Malyali (BY Gujarati

{C) Marathi (D) Bengali

‘weAl SN Uh e &1

(A) T (B) e

(C) =T (D) Sl
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The value of z is

z % O ¥

64°
y
X z
(A) 20° (B) 40°
(C) 64° (D) 56°

In which of the civilisation were bricks not used
in making the houses and colonies?

(A) Kalibangan (B) Ahar

(C) Ganeshwar (D) Bairath

fepe graar # weer ud sficaT s A e o yan =&
e an?
(A) rdlidn
(C) gy

(B) sngs
(D) €U

How much outlay has been allocated in Budget of
Rajasthan 2022-23 for Rajasthan water sector
restructuring project for desert area?

(A) ¥ 300 crore (B) ¥ 50Qgerore
(Cy ¥ 600 crore (D) ¥ 800 crore

TERAT & 912 2022-23 § 7% SEruhfmid o &89
AT aiEe % T e oiieas, eTEted fean
TR Y

95

96

97

98

(A) T 300 O (B} T 500 ®Us
(€Y T 600 &z (D) T 800 +ile
The next term of the given number series is —
& T g 9y @1 e ue ¥ - 99
~J0.1, 0.1, 0.140.1, 0.01,?
(A) 0.014/0.1 (By 0.014/0.01
©) 0.140.01 (D) +0.01
10

Which of the following culture is also called as
'Banas Culture'?

(A) Ahar culture (B)Y Drishduati culture
{(C) Rand culture (D) Bairath culture
Pretffan & @ fow T A T @R W @
ST % 7

(A) ames depld
(€) e Hepla

(B) guadl depla
(D) s "l

'"Periyar Tiger Reserve' is located in which state
of India ?

(A) Kerala (B) Gujarat

{C) Tamil Nadu (D) Karnataka
YA TR e T & e To A Reg & 7
(A) gol (B) e

(Q) dferg (D) weie

Chgose the appropriate determiner to complete the
sgntence.

There were people on the beach, so
we weren't completely alone.

{A) a few (B) fewer

(C) fewest (D) very little

When total internal reflection occurs?
(A)
(B)

The angle of incidence is greater than 90°

The angle of incidence is greater than the
angle of refraction

(C)
(D) The angle of incidence is equal to 90°
i stidfies wreds w9 g @ ?

(A) S =hivr 90° & it &

(B) SITUd IV Siudes o o aiftre 3

(C) sraacH »ivr 90° & it 2

(D) &Taee e 90° % FUET ¥

The angle of refraction is greater than 90°

Who is Chairman of Sixth State Finance

Commission of Rajasthan?

(A) Pradyuman Singh (B) Jyoti Kiran

(C) Ashok Lahoti (D) B D Kalla

T F TS T fod S % 1vael B & 7

(A) wgnd Rig (B) wuifa fepor
(C) #sNas @reld) (D) & <1 de
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India is ranked out of 63 in the Climate
Change Performance Index (CCPI), 2023,

(A) Sixth (B) Seventh
(C) Eighth (D) Ninth
FAarg uiEdT yEeH gEwie (dEndens) 2023 F

ARd 63 9 ¥ Wy 2

(A) © (B) #wmad

(C) arrcd (D) =&

"Borla" ornament is worn by the women on

(A) Hands (B) Waist

(C)y Legs (D) Head

ferdl g FRar smym UL BT S 2
(A) =¥ (B) wmx

(C) 9T (D) f&x

How many teachers from Rajasthan were awarded
with National Awards for Teachers, 20227

TR & fera frerel @1 ‘T e geene, 20227
g g feman T ?
(A) 1
() 3

(B) 2
(D) 4

Between whom was the Battle of Gagron awas
fought?

(A) Mahmud Khalji-1 and Kumbha

(BY Mahmud Khalji-ll and Medini Rai

(Cy Mahmud Khalji-l and Raimal oftldar
(D) Mahmud Khalji-Il and Maharana Sanga
TRV @7 g5 fehees wea @sT T e

(A) waqg @asi-1 T Hw

(B) weqg wasi-11 i af 4

(C) Woge Tasi-| 3T $8T % T

(D) wEqg @aei-11 3T "werron wrm

'Authentication' 91 &l &< ga™IE® 98 & —

(A) v (B) WHITR

(C) wér (D) HHTOTERTT
The word ecosystem was coined by

(A) Odum (B} R. Mishra
(C) Clement (D) A. G Tansley
T wIifefae == @l demem fan &

(A) &=H (B) &, fram
(C) wH= (D) u. ). &gl
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Who was the author of Rao-Jetsi-Ro Chhand?
(A) Vithu Sujo

(B) Girdhar Asian

(C) Kavi Ratanu Charan

(D) Jodhraj

AT B1' B T@D DA o7 7

(A) dig Tt

(B) Fru anfi

(C) =i T I

(D) siers

Baba Amte Divyang University will be established
in .

(A) Jaipur (B} Alwar

{C) Jodhpur (D) Kota

S et Tavafaemma ®1 @ #
/ST

(AYNgie (B) s

(C), T (D) e

Find the missing number in the following series :
Pttt A & e TN T B
6, 10, 18, 34, 66, ?
(A) 98 (B) 128
(C) 130 (D) 132

First man made satellite sent to the space in year
1957 is

(A) Sputnik-I (B) Rohini-I
{C) Aryabhatta-1 (D) IRS-I

af 1957 & erdfa § S 791 wewn qHg i
IWE E

(A) wafe-1 (B) feeir-1

(C) smdwee-l (D) #13. & ua-l
Choose the correct synonym of the following word:
Concise

{A) reduce (B) brief

{C) long (D) certain

Select the number group from the options which
is alike with the number group (5, 25, 7).

oy T fomedl # © S@ WO WYE @ 99T i S
e /s (5, 25, 7) % 99 w0

(A) (6, 36, 12) (B) (8, 64, 11)
(C) (9, 81, 10) (D) (7. 49, 13)
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World's largest riverine island 'Majuli’ is located
in which river?

(A) Brahmaputra (B) Indus

(C) Amazon (D) Godavari

o 1 g99 91 EE &9 Arer e T oA
Faftad g7
(A) e
(C) &

(B) forg
(D) TiEmady

'Loo' is

(A) vegetation

(B) mineral

(C) local hot air in summer
(D) industry

5q\) % _

(A) a=Era

(B) &=

(C) Tffat =t =™ T s
(D) sem

‘goometes R % -
(A) &
(C) =e

(B) o
(D) TE@m

In the famous couplet for famine, which district of
Rajasthan indicated as 'Pag Pungal'?

(A) Jodhpur (B} Nagaur

(C) Ganganagar (D) Bikaner

STl % T uffg A% F W g’ & AW o fered
& e e @ Sl Heed fepar mar &7

(A) st (B) iR
(C) T (D) @R
The value of 2.34 is
2.34 ® W %
234 234
(A) 50 (B) 99
211 211
(©) 0 (D) 99

Choose the correct preposition to fill in the blank
space.

I must apologise
broke down.

(A) with

(C) to

being late, my car

(B) upon
(D) for

The area of the India under plateau region is about
Hd § verdl & @ ¥

(A) 43% (B) 30%

(C) 56% (D) 27%
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119 A ABC ~A PQR if their areas be respectively

25 cm? and 36 cm?. If AB = 2.5 ¢m then PQ is
{A) 3.0 cm (B 3.5cm

{(C) 3.6 cm (D) 2 cm

A ABC ~ A PQR af T &5thel %At 25 o2
dr3semlenafk 4B =258t @ PO %
(A) 3.0 & (B) 3.5 &M

(C) 3.6 & (D) 2 ==r

A boy's present age 1s one third of his mother's
age. If the present age of his mother is x years,
after 15 years the boy's age will be —

Teh @Sh el aqw 3T STAAT JIT el AR B Teh e
T gfE AT B A9 A x a9 €, 15 a9 9y9 sk
& ey B —

x+15 x
—+1
(A) = (B) $+13
x
(Q) x5 (D) 5—15

'Kishangarh' school is famous for
(A) Temple Art (B) Painting

(C) Martial Art (D) Sculpture
Theme Ster % o e B
(A) #fex war (B) Fasepem

(C) wsfer ame (D) Tfi war

is a joint project between NASA and
ISRO to launch a dual frequency synthetic aperture
radar satellite.

(A) RISAT-1A (B) NISAR
(C) GSAT-11 (D) GSAT-12
T 9 THU % A IR NG "iiae g

ST 39U2 G&Uvl i & fre us dyad afidlism &)
(A) smemETETE-1 T (B) FEx
(C) siae-11 (D) wide-12

Badli Industrial Area will be established in which
of the following district?

(A) Ajmer (B) Jaipur

(C) Alwar (D) Jodhpur

TSl ARINS &= i @ frfarea o 9 Ba o
o & S ?

(A) ST (B) wmqT

(C) e (D) e

Where is factorv of Ashok Leyland located
in Rajasthan?

(A) Jodhpur (B) Kota

(C) laipur (D) Alwar
A9 Awis bl Toea W Fal fard 27
(A) SiErge (B) @

(C) wEgT (D) srefat
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Most common nutritional deficiency disease
observed among adolescent girls in India is —
(A) Scurvy (B} Pellagra

(C) Beriberi (D) Anaemia

AR ¥ Tpeliteal o Fa9 a1 & S A e g

famre & -
(B) Hwmm

(A) wHdl
(C) sy (D) T

Which Article of the Indian Constitution makes
provision for a special address by the Governor of
a state?

(A) Article 174 (B) Article 175

(C) Article 176 (D) Article 166
TguTd o Tty sifrroer @1 wags wRdg |@faaE
% e aroig o T TN B 7

(A) argeg 174 (B) &= 175

(C) = 176 (D) &g=E 166

HrATEdE g o g § 8 Fr e e s ?
(A) Hed

(B) WEIYA — HeElEd/MIIEX

(C) o Ao gl AfYSRY % 9 B AT — g
(D) @|fesr — Aae

The price of sugar is increased by 25%. What
percent of consumption is to be decreased so that
there would be no increase in the expenditure?
A1 o6 md § 25% @1 gieg &1 9 & | @ud 7 feRgn
ARISTd i HHT bl ST Al @d H @iE ghg T el ¢
(A) 20% (BY 25%
() 163% (D) 331%

3 3
Which is not a main component of the"s@il?
(A) Minerals (BY Humus
(C) Salts (D) Water
BET TS BT GET YLH Aol § 7
(A) @b (B) wg@
(C) w@am (D) vi@

amendment was

Which of the following statement“is,not correct

regarding Panchayati Raj System?

(A) Rajasthan was the first state to establish
Panchayati Raj.

(B) 73 Constitutional
implemented in 1992.

(CY 29 subjects are there in XI Schedule,

(D) Minimum age to contest election of Gram
Panchayat is 18 vyears.

ﬁm;ﬁaﬁqwmwﬂﬂmﬁrﬂam@ﬁ%ﬁaﬁﬁw

T BT

(A) Gawem T ¥ UarEET U9 S
9IB3Id &3 |

(B) 73 &t digam dymea 1992 5 @0 gan|

(C) waTeEat g ¥ 3w 29 faug ¥

(D) 7 daEd H A @S & o] gaaq 39 18

qy 7|
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131 'Prachanda’, which was recently inducted is a

(A) air to land missile

(B) land to air missile

(C) helicopter

(D) fighter plane

‘weve’ Y B O 0 onthe fRar T am, we . ¥
(A) T ¥ 99 9T 9 & qe e

(B) SN ¥ waT ¥ 9 &Y el HEEa

(C) telimiey

(D) w1 fomm

Mayank invested ¥ 8,000 in a bond at compound
interest (C.l.) compounded semi-annually.
He receives ¥ 10648 after 18 months then the rate
of interest per annum is

e 000 us a7z ¥ dmhghg =t 3g Frad sat
et emed, Fafie st %1 9 18 W usdn
T 10648 wre ®Xar & @ W au =TS @ g § —

(A), 15% (By 17.5%

(@) 20% (D) 25%

'Mukhyamantri Digital Seva Yojana, 2022" is about-
(A) Establishment of new E-mitras

(B) Free online coaching

(C) Free mobile phones for women

(D) Free computer courses for weaker sections
qeE fefaea e g, 2022 & W & -
(A) Tu 3-FF =it &9 9

(B) T13[s ATemg HitET &

(C) wfearen & forg Frigeh Alagd w8

(D) ST M &g M HET HES 4§

How many members were part of Constituent
Assembly of India in 1946 from Rajasthan?

1946 T IERAT § W B Gigu™ FEsE awn o feaa
gaer 97
(A) 11
(C) 9

(B) 10
(D) 7

Where is first gas thermal power plant located in
Rajasthan?

(A) Anta (B) Ramgarh

{C) Kota (D) Balotara

T H Ueen T e e Wi e | g7
(A) sfar (B) TS

(C) =k (D) sERa
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How many new industrial areas had been
proposed to set up in Rajasthan according to
MSME policy 20227

USRI H e, g 9 wewH Susd ifd, 2022 &
A Teh 0 SATEliTs & TIUa & & §aus
fopar mar wn?

(A) 147 (By 150
(C) 144 (D) 138
The Pratihars occupied the principality of Bhinmal

by defeating -

(A) Chauhans (B) Chawadas

(C) Guhilots (D) Bhatis
I TR HY Wqer! o H9aa & T
Uz aifaee e fea
(A) dremf (B) ==t
(C) Tl (D) Wt

Read the following short story and answer the
question that follows :

There were once two brothers who lived on
the edge of a forest. The elder brother was very
mean to his younger brother and ate up all the
food and took all his good clothes. One day, the
elder brother went into the forest to find some
firewood to sell in the market. As he went around
chopping the branches of a tree after tree, he game
upon a magical tree. The tree said to him, 'Oh
kind sir, please do not cut my branches. Ifgou
spare me, [ will give you my golden apples’. The
elder brother agreed but was disappdintedmwith
the number of apples the tree gave him, Greed
overcame him, and he threatened te,cut the entire
trunk if the tree didn't give him more apples: ' The
magical tree instead showered upony theVelder
brother hundreds upen hundréds™ofstiny needles.
The elder brother lay on the groundierying in pain
as the sun began to lower down the horizon.

The younger brother grew worried and went
in search of his elder brother. He found him with
hundreds of needles on his skin. He rushed to his
brother and removed each needle with painstaking
love. After he finished, the elder brother apologized
for treating him badly and promised to be better.
The tree saw the change in the elder brother's heart
and gave them all the golden apples they could
ever need.

(). The above story teaches you to be :
(A) great and ambitious

(BY disciplined

(C) covetous

(D) kind and gracious
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In which of the following city World Forestry
Arboretum is situated?

(A) Jaipur (BY Jodhpur

(C) Udaipur (D) Pratapgarh
frafafad & & e ot o fasa anfwal e
frar 37
(A) IR
(C) Saagt

(B) wfraqe
(D) warrTE

Which of the following is the popular folk dance
among the Bhils?

(A) Geendar dance (B) Chang dance

{C) Gavari dance (D) Dhol dance
frtafad & ¥ smE A Jd 9l | Ay § 7
(A) Tsggem (B) @ g

(C) W&l F (D) @ J=

According to the India State of Forest Report 2019,
highest percentage increase in forest cover with
reference to the vear 2017 is recorded in the state
{Not Union Territory)

(A) Karnataka (BY Andhra Pradesh

{(C) Assam (D) Kerala

iz we offe Wit faie 2019 & sga ad 2017

@ g o T (e AITET TR e o
9 &9 ¥ |aituw gfaed gha & g3 o

(A) @A (B) g wasT

(C) o/ (D) &t

Which of the following is NOT an open source
software?

{A) Adobe Photoshop

(B) Firefox

{C) Word Press

(D) Libre Office

ik B Bl B B el e B e o B
(A) U= HIZI9TY

(B) wAThiEd

(C) o< v

(D) fes aiftem
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Consider the following statements for Inter-state
Council :

I.  The inter-state council is set up under
Article 263.

2. The Chief Ministers of all the states are its
member.

3. It was set up on the recommendation of
Rajmannar Commission,

4. It is a permanent constitutional body.

Choose the correct code.

(A) 1,2, 3,4 (B 1,2

(Cy 3,4 D) 1,4

O anug % #3Y o Fefaiag wUE @ o

1. sigtiey ufteg & wor srgwde 263 & siald
g4l

2. ® U & JEAEH 3HG T € |

3. SEh! WA ASE-T AT & Fgstar 9T gl

4, 9% U W gaute HEe )

HE FZ g

(A) 1,2,3,4

(Cy 3,4

B) 1.2
D) 1.4

Who founded the Hadauti Seva Sangh?
(A) Manikayalal Verma

(B} Nayanuram Sharma

(C) Bhoop Singh

(D) Bhogilal Pandya

TSN Hal HY @ W fema @

(A) wltrerrem gui

(B) g s

(©) v fo=

(D) e wigan

Who among the following has won the Nobel Prize
tor Medicine 20227

(A) Adem Patapoutian
(B)y David Julius
(C) Svante Paabo
(D) Emil Von Behring

frrfefaa & @ fopee fafhe & & & F9e
2022 S ?

(A) =R uremEfas
(B) sfas sffea
(C) @@ urEl
(D) ufts af §=fi
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Which of the following is an application software?
{A) Windows NT (B) Ubantu

(C) AutoCAD (D) Android

T § HF W UH U™ qiezdaT €7

(A) fEm T & (B) g

(C) afieihs (D) Ugigs

PM-SHRI Yojana is about the upgradation and
development of which one of the following?

(A) Hospitals (B)Y Schools

{C) Universities (D) Orphanage

oA i B SEed Mt o o R uw @
I=ge qe fam @ &7

(A) ST (B) @bt

(C) Tasataeme (D) S

How many districts of Rajasthan were affected by
famine during 2021-22?

2021-22 # Irstedr & fend foter sisbret & womfad gu ?
#) 9 (B) 10
(@ (D) 12

Which of the following statements is not correct
about Block printing of Rajasthan?

(A) Tt is an ancient craft form of Rajasthan,
{B) It is done on cotton fabrics.

(C) The process of it flourished since 12 century.
(D) Natural colours are not used in it.

1 & @ B Bua ToRAE @ @ ie B & A H
LR (N

(A) T& TRAM & UH WAW (309 &9 5

(B) ¥ ¥l ®93 ux T Simam F

(C) z@a! uftean @r geamd 1291 @a1 & g2 o
(D) 399 Wipfas O &1 IUAMT Tl fohar SR §1

A person spends average I 1800 per month in
first 4 months. In next 8 months he spends average
< 2000 per month. In the end of the year he saves

T 5600, then his monthly income is —

TH ARH wuq 4 T8 F affmad T 1800 wigHe wdy
HidT &1 98 3T 8 His ® aigad T 2000 wiewws @d
FLAT SN 94 & o § 98 T 5600 T91 71 &, 1 3G
it &g E -
(A) T 2200
(C) T 2600

(B) T 2400
(D) T 2800

[ Contd...



SPACE FOR ROUGH WORK / =g & & o1 S8

S T W I R € - g o @R T ofa, ofen T w oden we Sred § g wdenell s
T i QAT AT AR T |, Tt o i ufa @ eTer w8 Y | S 5 ST U
A Wid ST S19H W ST R, T Oid o e 9fd 9 e ARA | O1g R eI gaeh 3TenT Y giemel
G | el i vl A e Wy @ SE

D78986 1 /\ 16



